
Nick and Ema are buying food for the school camp.

They are trying to work out how much of each item they need.

Solve the problems for them.  Discuss with a classmate the methods you used.
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You need: a classmate

There are 12 chocolate fish in each bag.

3 litres of cordial in each bottle.
How many litres will be in 14 bottles?

10 kilograms of potatoes cost $3.50.
We need 40 kilograms.  What will that cost?

There are 6 muesli bars in each packet.
We’ll need 78 bars.  How many packets is that?

We need 78 chocolate fish altogether.
How many bags shall we get?

It says each roll of plastic wrap
is 25 metres.

You can wrap about 4 sandwiches in
1 metre.  How many sandwiches can
you wrap with a whole roll?

9 bananas weigh about 2 kilograms.
If I get 18 kilograms, about how many
bananas will that be?

2.01 kg
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